 Unit K Review #1 KEY
LO  - K-1

1.  Left structures are on the right side of your field of view and vice versa, because the orientation can only be properly understood if you placed the heart (structure) in its body to visualize the right and left sides of the body.
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2.  MYO = Muscle 



CARDIUM =  Pertaining to Heart

Therefore it is the Heart Muscle.

3.  The INTERVENTRICULAR SEPTUM is a physical partition that separates the two ventricles so that oxygenated and deoxygenated blood does not mix between the right and left ventricles.
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4.   Right Atrium ( Right Ventricle ( Left Atrium ( Left Ventricle.
5.  Atrioventricular valves :  The right one is called the TRICUSPID, the left one is called the BICUSPID (mitral).

6.  The right AV valve has three flaps, while the left AV valve has two valves.

[image: image5.jpg]forta

Pumanary

Superior
turk

Pumenary vale

Right
atm

Lettatium

Mibalvake

Tiospia
it Chartoe
ninese
Paptay
e sepum
v
(= Aoto
« vahe
o—

Gatay Tiouspd vahe
it




7.  The Chordae Tendineae.

8.  The valves between the ventricles and their output arteries consist of three half-moon shaped flaps.  They are called SEMI-LUNAR Valves.

[image: image1.png]



9.  The Pulmonary trunk is a common artery coming up from the right ventricle.  The pulmonary arteries are arteries that branch off of the trunk and head to the right and left lungs.

10. The left ventricle has a much thicker myocardial wall as it has to generate more force to drive blood out to all parts of the systemic circuit.
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11. Atria receive blood and send it to their respective ventricles.

12. Blood would pass back to the atrium and blood would back up.  Circulation would become inefficient.

LO  K-2

1.  The beat of the heart is under neural control by special nodal tissue found within the heart itself.  It can initiate contraction without outside nervous control.

2.  SYSTOLIC involves contraction of heart chambers.  DIASTOLIC involves the relaxation and opening up of the heart chambers.
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3.  The LUBB sound is caused by the slamming shut of the AV valves while the atria go into diastole.

· The DUP sound is caused by the slamming shut of the Semilunar valves while the ventricles go into diastole.

4.  The SA (Sinoatrial) Node.

5.  The other nodal clump is called the AV (Atrioventricular) Node.  It is located at the bottom left side of the right atrium.
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6.  The SA node is responsible for initiating nerve impulses into the two atria and triggering the atria to go into systole. AV Node triggers the Ventricles.
7.  The AV node sends its impulses down the Bundles of His and into the Purkinje fibers to trigger ventricle systole.
8.  ECG or EKG stands for Electro Cardio Gram.  An ECG shows the electrical activity that stimulates and controls the cardiac cycle.
9. You should know what each represents:
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“P – wave “

“QRS - complex”
“ T-Wave”
Just remember that to get the heart to PUMP. Look to the letter "P" in the alphabet and start there…. P ( Q R S ( T
